- __:t:?h“%_h =
"\
N
.///'.
®

ASSEMBLY INSTRUCTIONS
IMONTAGEANLEITUNGEN

Gatek 5.C Bujak 1 fezdzalnia/Maktadia 2wl 241 szt

579044737535586 ">




¢

x 2 SZT M6 X 16 MM

X 6 SZT M6 x 10 x 13 MM

N
N/
(/x1OSZTM6X5OMM
N/
o & | x1
x 4 SZT M6x16 MM
N
N, N
- 1 x2 N/ x28zT4MM




1. |v|6x10|v||v|fa @M6X16MM

3 x M6 X50 MM
2 QZ/

°\






	Strona 1
	Strona 2
	Strona 3
	Strona 4

